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6 Ostwaldcolours (o)
of maximum (m) C,
linear colour space Cyg 5. Y)
lllumin. PS5, Y, =10G Y\=50
Name Range X, V, Zg Xy Vg Ay A
R, 569775 80.8 7017 48.11 0.4058 0.3524 597 490,
V 494 77589.6 97.41 51.05 0.3763 0.4091572 464
G, 494569 57.61 77.34 5102 0.3098 04158 536 5366

C, 380569 65.52 79.97 96.0 02713 0.3311 490 597 Parameter:
B, 380_494 56.73 52.73 93.07 0.2801 02603 464 572 Y & Name
M,569_494 88.71 728 93.09 03484 0.2859 5360535 i

569
W,,380_775 97.45 100.0 95.98 0.3321 0.3407 100% Nluminant PSS
N, 380_77548.72 500 47.99 0.3321 0.3407 50% Y,,=100Q Y, =50

7, 380_775 1754 180 1727 0.3321 0.3407 18%
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